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1. Suppose that during any hour in a large department store, the average number of shoppers is 445, with a standard deviation of 18 shoppers. What is the probability that a random sample of 49 different shopping hours will yield a sample mean between 440 and 450 shoppers?

2. In a random sample of 64 people, 48 are classified as ‘single’.

a. Determine the sample proportion, p, of ‘single’ people.

b. If the population proportion is 0.70, determine the standard error of the proportion.

3. If the true proportion of voters who support Proposition A is  π = 0.37,  what is the probability that a sample of size 300 yields a sample proportion between 0.35 and 0.40? Also check the assumptions required.
